Name Practice

8-2
Order of Operations

Use the order of operations to evaluate each expression.

1. 4X4+3= 2.3+6X2+3=
3.24-(8+2) +6= 4. (15 — 11) X (25 = 5) =

5. 26 —4X5+2= 6. 15X (7 —7)+ (5x2) =
7. 8+ 4) X (7X0) = 8.5X(6—-3)+10+ (8 —3) =

9. Which is a true statement,5 X4 +1=250r3+7 X2 =177
Explain your answer.

Insert parentheses to make each statement true.

10. 25 +5—-4=25

11. 7X4-4+2=26

12. 3+5X2-10=6

13. Insert parentheses in the expression
6 + 10 X 2 so that:

a. the expression equals 32.

b. the expression equals (12 + 1) X 2.

14. Solve (25 —7) X2 + 4 + 2.

A 18 B 11 C 6 D 5

15. Write two order-of-operation problems. Then trade with a
classmate and solve the problems.
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